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Write the slope-intercept form . Sta-te tihe  sicpe and vintercent.
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Tell what point is located at each ordered pair. o
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Write the ordered pair for each given point. and stucte +the Quad rant.
9) N 14" 8B 13) Q i)  E
{8 1 12) VS s 14)= G 16) M




Date

Period:

Name:

Graph each equation Y LV\ELIualp‘_l"ﬁ '

1) y=3x—2 g

=12

Zl x

Q 1 d
N~ T—
Seiint i) 1 g 1 +-2 1
L _
i 4 M 1 ,., | 1
1 ail | |
! | ! U N g,
: s ﬁ , | |
* o | |
% : } G s i ! “ { n
! & . : - e H 10k
! ] ! + : 2 A“. 2 ¥ t -2
| ‘ | _. |l 1 4 {
e} _ R ” _ =
1Ry : i {1
{ N i I 1w et
{ \ . 1
| ﬁ | I i i } £
3 \ | ! ,
_ | _ ; g ~ y i i |
e N—— S T~ Y B B otbemgied “ | j
i | \AJ. - -me. J
|
|
»” t
HLaSSI i, S = 3 AL 4 By 8
: | i ; ; { {
{ } i ¢ L t
| ! ; 1 I _ |
1 | | m V “ |
18 : 1 5es 4 Hicx! i Bt (e Ve
* | | \ 4 | :
| i
; f ¥ | | 4 {
_ ‘ _ b et L
a ! i el | ! Vit
: } m + > w “ | “ i
2 h o 2 Lol 0. i feeas -
! - 4 . > . { - H |
B | | | i Py “
i B ) = [ ! o
= - o i , T
- e T e Al e Sl i
i ; " | % ; i ) B A
. dait - i i ‘_ 1
-1 : ! Il AL i |
H 4 sl _ A } _1
rc 5 L et AR o ot e N W L T j
=
™

L) y=9

"
+e
4 1555 !
i |
i |
f !
| f i
! i 1
<1 { } +
e "
ﬁ T ¥
i , ,
: L ow ' )
| i
. ]
f |
i
1 iy w J
»
.ﬁ! — -+ 2 - |
| }
|
i
|
|
‘ ey S
- 4
| :
i
; ;
= b e
:
= = e L
B EAER i
sy e L S I A bt b As Bt 1
2 el




- 10

‘_4,
ain

)




J4) y< 2x-3

I5)0 8 2y < 12

—20

2

i8) 8x+5y




Syl

Find the Domain and Range. Also, state whether each set of ordered pairs is a function or not.

1) {1,-6), (4, -2), (6,-3), (4,4, 3, 9) } 2) el o) (-6,.7), (5 2),(2,-9), (-7, 3) }
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Determine whether each diagram depicts a function or not. |
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